## CNYRHA Summer Slide Thursday

June 8, 2023 8:00am
The Toyota Coliseum, NYS Fairgrounds, Syracuse NY

Judge: Mark Turner

Class Schedule	Entry	Judges	Added	pattern
	Fee	Fee	Money	
Mens & Ladies	\$25	\$20	Jackpot	8
Green Horse	\$25	\$20	Jackpot	2
Non Pro	\$30	\$30	\$300	4
Intermediate Non Pro	\$25	\$25	\$250	4
Limited Non Pro	\$15	\$15	\$150	4
Prime Time Non Pro	\$15	\$15	\$150	4
Masters Non Pro	\$15	\$15	Jackpot	4
Open	\$40	\$35	\$400	11
Intermediate Open	\$25	\$25	\$250	11
Limited Open	\$20	\$20	\$200	11
Rookie Pro	\$10	\$10	\$100	11
Ranch Riding	\$20	\$20	Jackpot	6

## CNYRHA Summer Slide Friday

June 9, 2023 8:00am
The Toyota Coliseum, NYS Fairgrounds, Syracuse NY

Judge: Edward Bricker Judge: Mark Turner

Entry	Judges Fee	Added Money	pattern
			14
\$40	\$35		14
\$30	\$25		14
\$40	\$35	\$400	14
\$20	\$20	points	6
\$10	\$10	Jackpot	11
\$10	\$10	\$100	11
\$10	\$10	Jackpot	11
Free			
\$50	\$40	\$500	10
\$30	\$30	\$300	10
\$20	\$20	\$200	10
\$10	\$10	\$100	10
\$20	\$20	Jackpot	10
\$300	\$100	\$3000	9
\$125	\$75	\$1500	9
\$100	\$50	\$1000	9
\$75	\$35	\$750	9
	Fee \$30 \$40 \$30 \$40 \$20 \$10 \$10 \$20 \$10 \$20 \$10 \$20 \$10 \$20 \$10 \$20 \$10 \$20 \$100 \$20	Fee Fee \$30 \$25 \$40 \$35 \$30 \$25 \$40 \$35 \$30 \$25 \$40 \$35 \$20 \$20 \$10 \$10 \$10 \$10 \$10 \$10 \$10 \$10 \$10 \$20 \$20 \$20 \$10 \$10 \$10 \$20 \$20 \$20 \$300 \$100 \$125 \$75 \$100 \$50	Fee         Fee         Money           \$30         \$25         \$300           \$40         \$35         \$400           \$30         \$25         \$300           \$40         \$35         \$400           \$20         \$20         points           \$10         \$10         Jackpot           \$10         \$10         \$100           \$10         \$10         Jackpot           Free         \$50         \$40         \$500           \$30         \$30         \$300           \$20         \$20         \$200           \$10         \$10         \$100           \$20         \$20         Jackpot           \$300         \$100         \$3000           \$125         \$75         \$1500           \$100         \$50         \$1000

## CNYRHA Summer Slide Saturday

June 10, 2023

8:00am

The Toyota Coliseum, NYS Fairgrounds, Syracuse NY

Judge: Edward Bricker Judge: Mark Turner

Class Schedule	Entry	Judges	Added	pattern
Grass seriedare	Fee	Fee	Money	
Novice Horse Non Pro Level 1	\$40	\$35	\$400	8
Novice Horse Non Pro Level 2	<b>\$50</b>	\$40	\$500	8
Novice Horse Open Level 1	\$40	\$35	\$400	8
Novice Horse Open Level 2	\$50	\$40	\$500	8
Youth Short Stirrup	\$10		points	Α
Youth 13 & under	\$10		points	3
Youth 14-18	\$10		points	3
Youth Rookie	\$10		points	3
Green Horse	\$25	\$20	Jackpot	5
CNYRHA Green 1	\$20	\$20	points	2
CNYRHA Green 2	\$20	\$20	points	2
CNYRHA Prime Time Green	\$20	\$20	points	2
NRHA Green 1	\$20		points	2
NRHA Green 2	\$20		points	2
Para Reining	\$20	\$20	Points	2
Open L4 Derby	\$400	\$100	\$5000	10
Open L3 Derby	\$200	\$75	\$2000	10
Open L2 Derby	\$150	\$75	\$1500	10
Open L1 Derby	\$100	\$50	\$1000	10

## CNYRHA Summer Slide Sunday

June 11, 2023 8:00am
The Toyota Coliseum, NYS Fairgrounds, Syracuse NY

Judge: Edward Bricker

Class Schedule	Entry Fee	Judges Fee	Added Money	pattern
Youth Short Stirrup	\$10		points	В
Youth 13 & under	\$10		points	8
Youth 14-18	\$10		points	8
Youth Rookie	\$10		points	8
Rookie 1	\$10	\$10	Jackpot	13
Rookie 2	\$10	\$10	\$100	13
Prime Time Rookie	\$10	\$10	\$100	13
Non Pro	\$50	\$40	\$500	12
Intermediate Non Pro	\$25	\$25	\$250	12
Limited Non Pro	\$20	\$20	\$200	12
Prime Time Non Pro	\$20	\$20	\$200	12
Masters Non pro	\$10	\$10	\$100	12
Green as Grass	\$20	\$20	points	13
CNYRHA Green 1	\$20	\$20	points	6
CNYRHA Green 2	\$20	\$20	points	6
CNYRHA Prime Time Green	\$20	\$20	points	6
NRHA Green 1	\$20		points	6
NRHA Green 2	\$20		points	6
Para Reining	\$20	\$20	points	6